public class Person {
/* Attributes */
doublew‘/* kilograms x/
double (height; */+ meters =/
/* Constructor */
Person (double weight,
this.weight = weight;
this.height = height;
}
/* Accessor/Getter: Body Mass Index */
p double getBMI ()
double bmi = t welght / ﬁ(helght * this. helght)

return bmi; TP, AIM 3 1‘7'

}
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void \gainWeightf(double am%z {
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this.weight = %s weight + am nt,
ol MJ"”

double height) ({

Person Example

Alan’s BMI:

Tom’s BMI:
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Tom’s BMI:

24.34
19.84
After Alan gained 3 kgs

20.76
20.76

publ:l.c class PersonTester {
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